8:C4 = C9(C4AC9)C4a
ca”

id:15 level: O
9:C4 C9C10C11 C12
C13 C14 C15 C16
C10(C4C10)C4 = C11(c4acCc11)ca
C14(C4C14)C4 = C15(C4C15)C4

C12(C4C12)C4 = C13(C4C13)
_Cl1l6(C4 C16)

:C9 C10C11 C12 C13
C14 C15 C16
0:

8:C9C10C11C12C13
C14 C15 C16
0:

id:16 level: 1
9: C5C9C10C11 C12
C13 C14 C15 C16

id:17 level: 1
9:C3C9C10C11C12
C13 C14 C15 C16

8:C5 = C9(C5C9)C5 =C10(C5C10)C5 = C11(C5C11)Ch = C12(CH5C12)C5 = C13(C5C13) 8:C3 = C9(C3C9)C3 =C10(C3C10)C3 = C11(C3C11)C3 = C12(€C3C12)C3 = cC13(C3C13)
C5 = C14(C5C14)C5 = C15(C5C15)C5 = Cl6(C5C106) C3 = C14(C3C14)C3 = C15(C3C15)C3 = Cl16(C3C106)
8: C9C10C11 C12 C13 8: C9C10C11 C12 C13
C14 C15 C16 C14 C15 C1o6
0: 0:
id:18 level: 2 id:19 level: 2
9:C6 C9C10C11 C12 9:C2C9C10C11C12
C13 C14 C15 C160 C13 C14 C15 C16
8:C6 = C9(C6C9)Co6 = C10(C6C10)C6 = C11(C6C11)CO = C12(C6C12)C6 = C13(C6C13) 8:C2 = C9(C2C9)C2 = C10(C2C10)C2 = C11(C2C11)C2 = C12(C2C12)C2 = C13(C2C13)
C6 = Cl14(C6C14)Co6 = C15(C6C15)C6 = Cl6(Cb Cl10) C2 =C14(C2C14)C2 = C15(C2C15)C2 = Cl16(C2Cl0o)
8: C9C10C11 C12C13 8: C9C10C11 C12C13
C14 C15 C16 C14 C15 C106
0: 0:
id:20 level: 3 id:21 level: 3
9:C7C9C10C11 C12 9:C1 C9C10C11C12
C13 C14 C15 C16 C13 C14 C15 C16
8:C7 = C9(C7C9)C7 =C10(C7C10)C7 = Cl11(C7C11)C7 = C12(C7C12)C7 = C13(C7C13) 8:C1l = C9(C1C9)C1 =C10(C1C10)C1 = C11(C1C11)C1 =C12(C1C12)C1 =cC13(C1C13)
C7 = C14(C7C14)C7 = C15(C7C15)C7 = Cl6(C7 C106) Cl = C14(C1C14)C1 = C15(C1C15)C1 = Cl16(C1C106)
8: C9C10C11 C12C13 8: C9C10C11 C12C13
C14 C15 C1lo C14 C15 C1lo
0: 0:
id:22 level: 4 id:23 level: 4
9:C8 C9C10C11C12 9:C0C9cC10C11C12
C13 C14 C15 C16 C13 C14 C15 C16
8:C8 = C9(C8C9)C8 = C10(C8C10)C8 = C11(C8C11)C8 = C12(C8C12)C8 = (C13(C8C13) 8:C0O = C9(C0C9)CO = C10(C0O0C10)C0O = C11(C0O0C11)CO =C12(C0O0C12)C0O = C13(C0oC13)
C8 = C14(C8C14)C8 = C15(C8C15)C8 = Cl16(C8C106) CO = C14(C0C14)C0O0 = C15(C0C15)C0O0 = C16(CO0OC106)




